3x(2x - 3)= 6x? - 9x

(2x + 1)(X-2) = 2x?-4x + 1x-2 = 2x?> -3x - 2
(y+5)y+2)= y?+7y+10
(y+5)?=y?+ 10y + 25

(a-1)a+2)= a®+a-2

(@a-10)(a + 10) = a2 - 100

4a’b(2a - 2b) = 8a°b - 8a%b?

(X -9)° = x°-18x + 81

(3a-5)(2a-3)=6a’-9a-10a+15=6a’-19a+ 15



(m+7)°= m? + 14m + 49

(Bx+ 1)(3x-1)=  9x?-1

@-2)b+2)= ab+2a-2b-4
(Bx+5)(x-1)= 3x2-3x+5x-5=3x2+2x-5
(2a-7) = 432 - 28a + 49

(y+11)°=  y>+22y+ 121

(13-r)(13+r)= 169 -r?



(m +3)(m - 3) = &_q

@1t by 11
(a-4b)? = iﬁebz
@n- 1)+ 1) = 40 % /}M

(6 w%)w) Jrla\ - (o

+b)

o



